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SECTION A
2x10=20
Answer not exceeding 150 words each

1. A fruit vendor bought some mangoes of which 10% were rotten. He sold 33%% of the rest.

Find the total number of mangoes bought by him initially, if he still has 240 mangoes with
him.
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Explanation:

Let the number of mangoes bought by fruit seller initially be x.

Given that 10% or mangoes were rotten

10
- Number of rotten mangoes = — x x
100

Number of good mangoes = x — no. of rotten mangoes
10
=T — ——T
100
100z — 10z
100

- )
100 %

Number of mangoes sold = 335% of good mangoes

100
= 3 %%
-.Mangoes sold = 100 X S0x x 1
3 100 100
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Number of mangoes remaining = No. of good mangoes — No. of mangoes sold

From (1) and (2)

90 30
T - x = 240
100 100
90z — 30x
100

60z

= 240

w—— =240

100
B 240 x 100
60

x = 400

Intially he had 400 mangoes

2. Answer the following

a. A and B can do a piece of work in 12 days and 9 days respectively. They work on alternate
days starting with A on the first day. In how many days will the work be completed?
A vppid B 88wt @@m Geuemsvenw (wenmpBw 12 ®mreiseT WwHEDID 9 BT Hefled GFuleuT. (WEHeL
BreT A ;b O@Tewi@ Gouemevenwdh OFHTLMmE SBSSBSHS [Hreisefed Smeumd GeueneveniL
QEuIgl&IBeTT 6Taned, GaumeoITangl 615HSHMET BT SH61Me0 (Lpiguib?
Explanation

Since they work on alternate days, let us consider a period of two days.

In the period of 2 days, work done by A and B = II« - 3 {
If we consider 5 such time periods for the fraction ( (we consider 5 periods because
7 goes 5 times completely in 36), .
work done h}' Aand Bin 5x2(=10) d;l}‘s =5 X% Yy = ::
Therefore, the remaining work =1~ ‘: = —](
L 3= 1 I
This is done by A in = x12 = —days
So, the total time taken = 10 days + ] days H)rl; days.

b. The father’s age is six times his son’s age. Six years hence the age of father will be four
times his son’s age. Find the present ages (in years) of the son and father.
ShmGUlen aWFHTaE salar eauwemsll Gurmed B ILEIEG PSD. WB MUBLEISEHSS LIBG
SHmGUle aFTaEH LHEiST awmSIGUTED BT LM DHBD. SHd LBBID LOSH6T 6T
SBCUTMBW WM (AIHLEIS6TN6) SHTERIS
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Explanation:

Let the present age of father be z years and

the present age of son be y years
Given, z — 6y
z+6=4(y +6)

, 6y +6=4(y +6)

\ !

Substituting (1) in
6y +6 =4y +24 gives, y=9

Therefore, son’s age = 9 years and father’s age = 54 years.

SECTION- B

2x15=30
Answer not exceeding 250 words each
3. Answer the following
a. The S.S.L.C Public Examination result of a school is as follows:
Result Passed in first Passed in Passed in third Failed
class second class class
Percentage of 25% 35% 30% 10%
students

Draw a pie chart to represent the above information

ueitel  BOumiF OuIHSCHTeled (S.S.L.C) qm uerefuler Gzt (pyeymer LleTeubLors
CaTBaHsLILIL(BeiTerg.
Gxitey (igey W60 auGLILTed Sy ewTLmb APSIBTD 6uGLILl6e0 GaiTsd
Baisd QumBDMT | eu@lled BziTdd | Bxidd GUBGMMT QuBTGaTiT
QuBCmit
LDIT6D0T61T 6l 6T 25% 35% 30% 10%
FFHaizld
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Percentage value of the component
100

We may calculate the central angles for various components as follows:

Central angle for a component = % 360°

Result Percentage of students Central angle
Passed in first class 25% 25 x 360° = 90°
100
Passed in second class 35% 13;)50 % 360° = 126°
Passed in third class 30% 30 % 360° = 108°
100
Failed 10% 10 0 _ a
Too * 360 36
Total 100% 360°

Clearly, we obtain the required pie chart as shown below:

SSLC Public Examination Results

Passed in
Eirst Class
90°

36°,
"('r'lf;f{..(:,

Passed in
Second Class

1265

[[_] Passed in First Class
|:| Passed in Second Class
[l Passed in Third Class
[] Failed

108°

Passed in
Thrd €lass

b. In how much time will the simple interest on X 3,000 at the rate of 8% per annum be the
same as simple interest on X 4,000 at 12% per annum for 4 years?
T3000 oIFsE JMGHS 8% a1 euprslLBL Saleulgumeg T 4000 DEFNSS JMBHS
12% etom 4 SEIBBEHSS UPBIBLILGLD ST 19hE BHEJTGD STV 6T6T6T?

Let the required number of years be n1
Pnr
100

Principal P; = 33000

Simple Interest | =

Rate of interest (r) = 8%
Time (n1) = nq years

3000 x 8 x n,
100

Simple Interest I; = = 240 nq
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Principal (P;) = I 4000

Rate of interest (r) = 12%

Time ny = 4 years

. 4000 x 12 x 4

Simple Interest[; =
100
I, =1920
If Ij_ = 12
240 ny = 1920
1920

ng = ——

17 240
=8

- The required time = 8 years

4. Answer the following

Two unbiased dice are rolled once. Find the probability of getting (i) a doublet (ii) the

product as a prime number (iii) the sum as a prime number (iv) the sum as 1
Oyewi® Fymen LSMLB6T (pepwtd Cr CrrHHled o (HLL LG me.

i. Brewih usmLSeMID B (Wa wWwH HoLbs
ii. W& Wl sefer CLHSSBLGOST LIST 6IeNIenTEd S bd
iii. (s WFHSeRET FmBIHO LST cTemIanTSS Henl Hd
iv. wa wdlysefier BB 1- Qb BHHD
QW HapsFfsaien BHoDSH0|HMm6NS HTERISH

Explanation:

(1) Doublet = {{1, 1) (2, 2) (3, 3) (4, 4) (5, 5) (6,6)}
Total number of outcomes =6 X 6

n(s) = 36

Number of Favourable outcomes = &

P(doublet) = o = 1

(1) Number of Favourable outcomes = 6 as favourable cutcomes = (1, 2), (2, 1), (1, 3),
(3, 1), (1, 5),and (5, 1)

P(prime number as produck)

£ 1
-3 =%
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iii) The sum as a prime number

Number of favourable outcomes = (1, 1) (1, 2) (1, 4) (1, 6) (2, 1) (2, 3) (2,5) (3, 2) (3, 4) (41)
4,3)(5,2) (5,6)(6,1) (6,5)

15 5

36 12

{(Iv) with two dice, minimum sum possible = 2

~ Prob (sum as 1) = 0 [Impossible event]

b. A bag contains 6 green balls, some black and red balls. Number of black balls is as twice

as the number of red balls. Probability of getting a green ball is thrice the probability of
getting a red ball. Find (i) number of black balls (ii) total number of balls.
@@ evuuiled 6 LFMF FHIBLLHSHSEHD, Fev S@HLY LHBEID Feully HBLLGHSHISEHD 2 6iener. S
ubSIseTal eaiemidm®s, Feull Ubpisemen GUTEL SHWLBSTGWL. UFMF UbHGH HenLLILIGHBHT6T
Basae| Hally Lbg SmLLusBarear HapsHamel GuTed paip WLEISTGD. Seleuropeaisd (i)
&mUY ubsiselen eetienisams (i) CLISHL LbHiHeNET cenienismd QLELBMDBS STERID

Explanation:

Number of green balls is n(G) =6
Let number of red balls is n(R) ==
Therefore, number of black balls is n(B) = 2z
Total number of ballsn(S) =6+ 2 +2x =6+ 3z
It is given that, P(G) = 3 x P(R)
6 ) T

=3 x
6+ 3z 6+ 3x

3r =6 gives, =2

(i) Number of black balls=2x2 =4
(ii) Total number of balls= 6 + (3 x2) = 12
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